881

PN ERBREES
% 1B ERMEREEIEI =

==
W

BE: E29F2H87H(K) 14 :00~16:00

=3
Gk
14:00
14:05

(35 43)

14:40
(75 43)

15:55

15T REEXE FEOMO 4 4R

=

1. b - INAEREXRED b A T-F/INERIEHREIC
347 v7r— b (FEH) - - - [EF 3]

2. EATXENAOSEDOARE (BF)
- [EkH4 ] GeEianm 10 4))

3. BRBEERBICODWTHXIE#EICHIFI S L
(ZD1) - - - [&EI5]
(b, MEER., Bl & 8 47)
(1) LREEDORERIELZRIL - (RETH=OIZKYFE
EIAREHEE . - - [ERI5— 1]
(2) BERBORENDOHA-HIEHEIZHEIT 2EE

- [&k 5 —2]
(3) 1 TEROHEANOHA-IEHEICHIET 515%E
- [&#8 5 — 3]
<EHEBHRBA>
<EE>

13&H #9350 5r=16 44 X3 57
2KH &Y 2557

=

LEOMEBRREIZOVT - - - [&H6])



